% RIVAL

POWERSPORTS

m SKID PLATE INSTALLATION MANUAL

H MONTAGEANLEITUNG FUR UNTERBODENSCHUTZ SYSTEM

For: CFMOTO CFORCE 800 (2024- )
K.8189.1

 NOEAL | IOFS

WWW.RIVAL4X4.COM WWW.RIVALPOWERSPORTS.RU



% RIVAL

POWERSPORTS

EN Regular fasteners
DE Normale Befestigung
RU LUTaTHbIA Kpenéx

EN Regular fasteners
DE Normale Befestigung
RU LUTaTHbIA Kpenéx

EN Screw a several turns
DE Mit wenigen Umdrehungen befestigen
RU BKpyTMTb Ha HECKOJIbKO 060poTOB

EN Loosen bolts
DE Bolzen lockern
RU BbIKpyTMTb Ha HECKOJIbKO 060poTOB

EN Movement Arrow
DE Bewegungsrichtung
RU [iBmxeHue

EN Location / Position Arrow
DE Anordnung / Positionsrichtung
RU PacnonoxxeHue

EN Screw Arrow
DE Drehrichtung
RU MoBopoT



% RIVAL
POWERSPORTS

X2

x10

12

M6x40

x8 | M8x20

24

X6

X2

A A

11

7

1

x14 | 26

x4 | 30mm

B

x11| M6x30

22 23
S
&

x22 | &8

EN Ratchet
DE Ratsche

<

X2 | 16mm

x5 | M6x25

x2 | 26

x2 | 10mm

<

x4 | M6x20

%E

20

x2 | M8x20

x4

x4 |M6x16

S

x6 | M8x50

13

M8x50
19

M8x25

x4 | M8x37

8




POWERSPORTS

/ \._




“ RIVAL
POWERSPORTS




“ RIVAL
POWERSPORTS




“ RIVAL

POWERSPORTS




POWERSPORTS

£ (b

3L .
e -““
N
LL\ ‘q
) \‘\\‘

ok

)/ /. I{ oo o0

8/

o5

o>

Iy =

0




“ RIVAL

POWERSPORTS

LEFT = RIGHT




“ RIVAL
POWERSPORTS

)%

([ \ \
¢ ‘i
SO - s - VB B

i

D

b i

e 7 'I
s@9 TS ‘
AN _ |
IS )

N

>
O e

— i ,‘

> W i I

"g.»
1
ais J

N

.“




